MATH 108 Sochacki Exam 2 Name KQ\I W Q_ﬁ'/’
Oct. 30,2013 In Class Part 75 Points (Print) (1 point) [

All necessary work must be shown for credit. You may NOT use computers_: nZes or texts.

I have neither received nor given help on this exam. 5?1 -
(Signature) (2 points) O
1. Give all the symmetries of the following objects. (6 points each)
@
E\\ L\ori%ovv\—a_\ S \,me:‘rr\/
e NoT CUAN e%u\\ q-\—@r&\ —H ,‘Wy\&\(>
\ \wﬂ Nov ‘l’L\W\k. ii \S eﬁui !a-‘-e,’m\
o Messure (\20" ro~\'a,+ion>
m hovr \ %.on'\ (1\ S\i mle:E%“r\/
' \_/ verdical S\Im'mﬂ,‘*ry
4‘ £° Sy me v 7
(c)

A ; | 30° Sﬂmme_-\-r\/



2. The second figure is a rigid motion of the first. Indicate whether it is a translation, rotation or reflection of the
first figure. If it is a translation, give the line it is translated along. If it is a rotation, give the degrees. If it is a
reflection give the line it is reflected through. (6 points each)
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3. Give the area to pertmeter ratio for the following regular hexagon. (6 points)
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4. Explain why or why not the following tile can tessellate the plane. (6 points each)
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5. The following two polygons are proportional. Give the lengths of all the sides and the measure of all the
angles. (6 points)




5. Give the number of degree contained in the following. (6 points cach)
(a) One twelfth of a circle.
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(b) 25 minutes on a circular clock.
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